N\~ REFRBE RO R R —F BRSO LR

(—) FERREEE - REFH R EAANE T AR LRy F - DU IS5 E
B A ERREATE BRI E FRAE R o 99 H-AmE SRS 82,586 fF o [K 101 45 6 AR
HFENETT - BUEHBERTEIRH] - 101 SRR IFRGE M RIBNERE = 95,026 4 - 5K
FRIEREZE 108 4.2 164,980 {1 » 5 99 41 8 Rt - +HFEHAIAIREGR 99.77%  HfY 96
3 HIRFIRENAEIE - fUlnl AU SRR RO e B e s i F B LB = s
=437~ 106 5 2 HERERHEIE " Rbe i R iR B H 2 ke R iiischs
BE o SRRk SO E IR - B3 2 S ESE e HEBEK T JHEE)
T ERBekEE P A B AN S G - SRR RO R ARIENY - SRR (R 99 A
& 30,623 {43422 108 ££.2 61,351 14 » AT R LA RS -

(Z) TS © T TR RS R — R R B GURRERRE IR R RO T 2 L
FH 99 4 4.92% i (ERLZ ARG 104 4 6.37%1 ey » 108 A HIMSRERy 5.13% - MR AE
7% o REFE—FBFBEERIE 99 5.2 7,336 (42 108 2.2 9,176 £ - H-RIFH 1
SR T o BRI R R R IR (e A AN K

o HE2.3 == Uy SRR JAAR K AR L H 57 Eb o
60 70000
50 60000
50000
40
40000
30
30000
20
20000
10 10000
0 0
99 100 101 102 103 104 105 106 107 108 4%
m— R e T A8 TUEEL === EEAE PRI B o7 L =t TR E 77 L

RERFRAB IR - SRR IR AR v RS AR - S8R AN R
i O SRR R - AEIEBEBCRAEEN & - SRR LA B R R 2 AR 2
RN -

T~ R :
e 24 BBEHITTAGHRF R ER
HESH AR 108 A2 IR AR E = B
40,232 - i 99 SRS —E L TR 4R | _ g

I T 20.60% - 108 FEAKHE 40,072 e+
BT 45.00% 5% - NFHE DY 25.03%K o
2 SRR 391 (U0 R -
2.5 (8T - :

0

9 100 101 102 103 104 105 106 107 108 4

—14—



